Dr. Leon VanDommelen,
Exam 1, 10/04/18, Question 2
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My Solution: ;- )

% create noisy data
x¥Vals=lingpace(-pi/2,pi/2,50);

rng | 'default ')
fVals=sin(xVals) +0.1*randn (gize (xVals)) ;

% create fitc
CoefQuintic=polyfit (xVals, fvals,5);

t maximum error at the plot points
xPlot=linspace(-pi/2,pi/2,100);

fQuinticPlot=polyval (CoefQuintic,xPlot) ;
errguinticsmax (abs (fQuinticPlot-gin(xPlot) )} ;

fprintf ('The guintic fit has a maximum error %.2E\n',errOuintic)

T plot

fExactPlot=ain(xPlot) ;

derfExactPlot=cog (xPlot) ;

derCeoefQuinticspolyder (CoefQuintic) ;

derfQuinticPlot=polyval (derCoefQuintic,xPlot) ;

plot (xPlot, fExactPlot, '--k',
xVals,fVals, 'ok"',
xPlot,derfExactPlot, '--k', ...
®Plot, fQuinticPlot, 'b',
®xPlot,derfQuinticPlot, 'b')

grid omn

axig([-pif2 pif2 -1.2 1.2])

The guintic fit has a maximum error 9.50E-02




Dr. Leon VanDommelen, Ex-
am 1, 10/04/18, Question 3

-1.5 -1 0.5 0 0.5 1 1.5

Published with MATLAB® R2017hH




